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Note : This Question Paper has three sections - A, B and C.
Attempt questions from each section as per instructions
given under each section.

SECTION - A
(Long Answer Questions) 2x20=40
Answer any two questions :

1. How far do you agree with the statement that
modern economic growth is accompanied by
major changes in the industrial structure of the
national product and labour force? What are the

factors underlying such changes?

2. “While agricultural development in Britain
preceeded industrialisation, in Japan it took place

concurrently with industrialisation.” Discuss.
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3.  The state in Japan played the role of a pioneer in
its economic growth while in the USSR it took
the entire responsibility.

Examine with regard to the role of state in the
two countries.

4. Briefly discuss the character of the Meiji
Restoration. In this context, discuss the changes
in the socio-economic status of different groups

in Japan.
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SECTION - B
(Medium Answer Questions.)
Answer any three questions from this section. 3x10=30

5. What was war communism? Explain.

6.  What were the economic reasons which prompted

England to colonise tropical countries?

7.~ Explain the Emergence of Britain as the ‘First

workshop’ of the world.

8. Briefly describe the ‘Emanicipation Act’ and its

consequences in Russia.

9. How does Chinese approach to planning differ
from that of Soviet Russia?

10. Examine the view that collectivisation in soviet

union was counter productive in the long - run.

EEC-06 3 P.T.O.



SECTION - C
(Short Answer Questions) 2x15=30
Attempt all the questions in this section as directed.
11. Explain any three concepts:
(a) De-industrialisation of colonies.
(b) Central Planning.
() Manorial System.
(d) Terms of Trade.
(

e) Spillover Effects.

12. Distinguish between any three of the following:
(a) Japanese Fascism and German Fascism

(b) Forces of Production and Production

relations.

(c) Dualism in domestic and international

sectors
(d) Uneven exchange and Imperialism.

(e) ’Satellite’ and Metropolis.
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